Notes on Number Theory and Discrete Mathematics Print ISSN 1310–5132, Online ISSN 2367–8275 2024, Volume 30, Number 3, 587–589 DOI: 10.7546/nntdm.2024.30.3.587-589

Note on a quadratic inequality

Peter Renaud

School of Mathematics and Statistics, University of Canterbury Christchurch, New Zealand e-mail: peter.renaud@canterbury.ac.nz

Received: 8 February 2024 Accepted: 16 October 2024 Revised: 4 October 2024 Online First: 21 October 2024

Abstract: In this note we obtain a quadratic inequality based on a result of Atanassov but in a more symmetric form. Somewhat surprisingly, well-known properties of Chebyshev polynomials can be used to give a straightforward proof.

Keywords: Inequalities, Chebyshev polynomials of the second kind. **2020 Mathematics Subject Classification:** 11A25.

1 Introduction

In [1] Atanassov proved the following elementary quadratic inequality. (See also [2] and [3] for similar results.) The notation here differs slightly from the notation used in [1].

For all real numbers $\{a_1, \ldots, a_n\}$ $(n \ge 2)$,

$$\sum_{k=1}^{n-1} a_{k+1}(a_k - a_{k+1}) \le \frac{1}{2(n-1)} \sum_{k=1}^{n-1} a_k^2.$$

Separating out the cross and square terms, this becomes

$$\sum_{k=1}^{n-1} a_{k+1}(a_k - a_{k+1}) \le \frac{1}{2(n-1)} a_1^2 + \frac{2n-1}{2(n-1)} \sum_{k=2}^{n-1} a_k^2 + a_n^2.$$
(1)



Copyright © 2024 by the Author. This is an Open Access paper distributed under the terms and conditions of the Creative Commons Attribution 4.0 International License (CC BY 4.0). https://creativecommons.org/licenses/by/4.0/

The right hand side of this inequality is assymptrical as it gives different weights to the terms in the sequence. If we look for a more symmetric expression, then a natural problem arises: can we find constants λ_n such that

$$\sum_{k=1}^{n-1} a_{k+1} a_k \le \lambda_n \sum_{k=1}^n a_k^2$$
(2)

for all real numbers $\{a_1, \ldots, a_n\}$ $(n \ge 2)$.

The purpose of this note is to find the best constants.

2 Main result

Fix n and for simplicity write $\lambda_n = x$ in (2). We can write the quadratic form obtained from (2) as

$$2x \sum_{k=1}^{n} a_k^2 - 2\sum_{k=1}^{n-1} a_{k+1}a_k = \underline{a}^T H_n \underline{a}$$
(3)

where $\underline{a} = (a_1, \ldots, a_n)^T$ and H_n is the $n \times n$ symmetric matrix

$$H_n = \begin{bmatrix} 2x & -1 & 0 & 0 & \cdots \\ -1 & 2x & -1 & 0 & \cdots \\ 0 & -1 & 2x & -1 & \cdots \\ & & \ddots & & \\ \cdots & 0 & -1 & 2x & -1 \\ \cdots & 0 & 0 & -1 & 2x \end{bmatrix}$$

Then the inequality (2) is equivalent to finding the smallest value of x such that H_n is positive (semi-definite).

Let $U_n = U_n(x)$ be the determinant of H_n . Expanding the determinant along (say) the first row, we obtain

$$U_n = 2x U_{n-1} - U_{n-2} \quad (n \ge 2), \tag{4}$$

where we define $U_0 = 1$.

The recurrence relation (4) is the defining relation of the Chebyshev polynomials of the second kind (see, e.g. [4]) whose solutions are

$$U_n(x) = \frac{\sin(n+1)t}{\sin t} \quad \text{where } x = \cos t.$$
(5)

For a fixed n, the zeros of U_n in [-1, 1] are the values

$$x_k = \cos\left(\frac{k}{n+1}\pi\right) \quad k = 1\cdots n$$
 (6)

Now for H_n to be positive, semi-definite, the determinants of H_k must all be positive, (k = 1, ..., n). Because $\lim_{x\to\infty} U_n(x) = \infty$, this means that x cannot be smaller than the largest zero of the H_k 's. From (6) this means that $x \ge \cos\left(\frac{\pi}{n+1}\right)$. So we have our main result.

Theorem 2.1. Fix $n \ge 2$. Then

$$\sum_{k=1}^{n-1} a_{k+1} a_k \le \cos^{-1} \left(\frac{\pi}{n+1}\right) \sum_{k=1}^n a_k^2$$

for all real numbers $\{a_1, \ldots, a_n\}$ $(n \ge 1)$.

(Here we must obviously choose $\cos^{-1}\left(\frac{\pi}{n+1}\right) \in [0,1]$.)

Note that the inequality is best possible since it becomes equality precisely when we choose $[a_1, \ldots, a_n]$ to be in the null space of H_n .

References

- [1] Atanassov, K. (2012). A modification of an elementary numerical inequality. *Notes on Number Theory and Discrete Mathematics*, 18(3), 5–7.
- [2] Beran, L., & Novakova, E. (1998). On an inequality of Atanassov. *The Australian Mathematical Society Journal*, 25(5), 235–235.
- [3] Coope, I., & Renaud, P. (1999). A quadratic inequality of Atanassov. *The Australian Mathematical Society Journal*, 26(4), 169–170.
- [4] Mason, J. C., & Handscomb, D. C. (2003). *Chebyshev Polynomials*. Chapman and Hall/CRC.